519.6



87



. 1.



$$\Omega_{k_{T}} = (0,T) \times \Omega_{k}, \ \left(\Omega_{k} = (l_{k-1}, l_{k}), k = \overline{1, n+1}, l_{0} = 0 < l_{1} < \dots < l_{n+1} = l < \infty\right)$$
$$U_{1_{k}}(t, z), \ U_{2_{k}}(t, z), \qquad [3-4, \ 6-8]$$

$$\frac{\partial}{\partial t}U_{1_k}(t,z) = D_{11_k}\frac{\partial^2}{\partial z^2}U_{1_k} - D_{12_k}\frac{\partial^2}{\partial z^2}U_{2_k}$$

$$\frac{\partial}{\partial t} U_{2_k}(t,z) = -D_{2l_k} \frac{\partial^2}{\partial z^2} U_{l_k} + D_{22_k} \frac{\partial^2}{\partial z^2} U_{2_k}.$$
(1)

$$U_{1_{k}}(t,z)\Big|_{t=o} \equiv U_{01_{k}} = \begin{cases} 0, & z \in (l_{k-1}, l_{k}), \ k = 2i+1; i = \overline{0, \lfloor n/2 \rfloor} \\ 1, & z \in (l_{k}, l_{k+1}), \ k = 2i+2; i = \overline{0, \lfloor n/2 \rfloor - 2}, \end{cases}$$
$$U_{2_{k}}(t,z)\Big|_{t=o} \equiv U_{02_{k}} = \begin{cases} 1, & z \in (l_{k-1}, l_{k}), \ k = 2i+1; i = \overline{0, \lfloor n/2 \rfloor} \\ 0, & z \in (l_{k}, l_{k+1}), \ k = 2i+2; i = \overline{0, \lfloor n/2 \rfloor - 2}, \end{cases}$$
$$(2)$$

$$D_{1}\frac{\partial}{\partial z}\begin{bmatrix}U_{1_{1}}(t,z)\\U_{2_{1}}(t,z)\end{bmatrix}_{z=0} = 0, \quad D_{n+1}\frac{\partial}{\partial z}\begin{bmatrix}U_{1_{n}}(t,z)\\U_{2_{n}}(t,z)\end{bmatrix}_{z=l} = 0, \ t \in (0,T),$$
(3)

$$\left[U_{s_{k}}(t,z) - U_{s_{k+1}}(t,z)\right]_{z=l_{k}} = 0, \quad s = 1,2,$$
(4)

$$\left(D_{s_{1}}\left[\frac{\partial}{\partial z}U_{l_{s_{1}}}(t,z)\\\left(\frac{\partial}{\partial z}+\frac{\partial}{\partial t}\right)U_{2_{s_{1}}}(t,z)\right]-D_{s_{2}}\left[\frac{\partial}{\partial z}+\frac{\partial}{\partial t}U_{l_{s_{2}}}(t,z)\\\left(\frac{\partial}{\partial z}U_{2_{s_{2}}}(t,z)\right)\right]_{z=l_{k}}=0, \ k=\overline{l,n}, \quad (5)$$

$$\left[D_{s_{1}}\left[\frac{\partial}{\partial z}+\frac{\partial}{\partial t}U_{2_{s_{2}}}(t,z)\right]\right]_{z=l_{k}}=0, \ k=\overline{l,n}, \quad (5)$$

$$D_{k} = \begin{bmatrix} D_{11_{k}} & -D_{12_{k}} \\ -D_{21_{k}} & D_{22_{k}} \end{bmatrix}, \begin{cases} s_{1} = k, s_{2} = k+1; & k = 2i+1; i = 0, [n/2] \\ s_{1} = k+1, s_{2} = k; & k = 2i+1; i = \overline{0, [n/2]}, \end{cases}$$

$$r_{jk} \in [0,1], k = \overline{1, n}; j = \overline{1, 2} - ,$$

$$U_{s_{k}}(t,z) = \sum_{j=1}^{n} \int_{0}^{t} \left( E_{s1_{k}} \mathcal{R}_{k,j}^{1}(t-\ddagger,z) + E_{s2_{k}} \mathcal{R}_{k,j}^{2}(t-\ddagger,z) \right) \check{S}_{s_{j}}(\ddagger) d\ddagger + \int_{0}^{t} \sum_{j=1}^{n+1} \int_{l_{j-1}}^{l_{j}} \left( E_{s1_{k}} \mathcal{H}_{k,j}^{1}(t-\ddagger,z,<) + E_{s2_{k}} \mathcal{H}_{k,j}^{2}(t-\ddagger,z,<) \right) \mathcal{F}_{s_{j}}(\ddagger,<) d< d\ddagger ; k = \overline{1,n+1},$$

$$\mathcal{H}_{k,j}^{s}(t-\ddagger,z,<) \quad \mathcal{R}_{k,j}^{s}(t-\ddagger,z), \quad s = \overline{1,2} - ,$$
[8, 21].

3. , Fe/Dy-\* **»** п (Fe/Dy)-**»** « , (Fe), » – (Dy), ~ , ( ). » ~ ~ **»** , « » ». ~

$$\Omega_{k_{T}} = (0,T) \times \Omega_{k}, \left(\Omega_{k} = (l_{k-1}, l_{k}), k = \overline{1, n+1}, l_{0} = 0 < l_{1} < \dots < l_{n+1} = l < \infty\right)$$
$$U_{l_{k}}(t, z), \quad U_{2_{k}}(t, z), \qquad [4, 6, 7]$$

$$\frac{\partial}{\partial t}U_{l_{k}}(t,z) = D_{l_{l_{k}}}\frac{\partial^{2}}{\partial z^{2}}U_{l_{k}} - D_{l_{2_{k}}}\frac{\partial^{2}}{\partial z^{2}}U_{2_{k}}$$

$$\frac{\partial}{\partial t}U_{2_{k}}(t,z) = D_{22_{k}}\frac{\partial^{2}}{\partial z^{2}}U_{2_{k}}.$$
(7)
(2),
(3)
$$U_{l_{1}}(t,z) + D_{l_{2_{1}}}U_{2_{1}}(t,z) - \left(D_{l_{k_{2}}}\left(\frac{\partial}{\partial z} + \frac{\partial}{\partial t}\right)U_{l_{2_{2}}}(t,z) + D_{l_{2_{2}}}\frac{\partial}{\partial z}U_{2_{2_{2}}}(t,z)\right)\right) = 0 \quad (8)$$

$$\left(\frac{\partial}{\partial z}\left(D_{_{l_{s_{1}}}}U_{_{l_{s_{1}}}}(t,z)+D_{_{l_{s_{1}}}}U_{_{2_{s_{1}}}}(t,z)\right)-\left(D_{_{l_{s_{2}}}}\left(\frac{\partial}{\partial z}+\frac{\partial}{\partial t}\right)U_{_{l_{s_{2}}}}(t,z)+D_{_{l_{s_{2}}}}\frac{\partial}{\partial z}U_{_{2_{s_{2}}}}(t,z)\right)\right)\Big|_{z=l_{k}}=0 \quad (8)$$

$$\left(D_{_{22_{k}}}\frac{\partial}{\partial z}U_{_{2_{k}}}(t,z)-D_{_{22_{k+1}}}\frac{\partial}{\partial z}U_{_{2_{k+1}}}(t,z)\right)\Big|_{z=l_{k}}=0, \quad k=\overline{1,n}, \quad t\in(0,T). \quad (9)$$

$$D_{k} = \begin{bmatrix} D_{11_{k}} & -D_{12_{k}} \\ 0 & D_{22_{k}} \end{bmatrix}; \begin{cases} s_{1} = k, s_{2} = k+1; & k = 2i+1; i = \overline{0, [n/2]} \\ s_{1} = k+1, s_{2} = k; & k = 2i+1; i = \overline{0, [n/2]} \\ , \end{cases}$$

$$F_{n}^{-1}[...] = \begin{bmatrix} \cdots \\ \sum_{m=1}^{\infty} \cdots V_{k}(z, S_{m}) (\|V(z, S_{m})\|_{1}^{2})^{-1} \\ \cdots \end{bmatrix}, k = \overline{1, n+1}, \quad (11)$$

$$U_{2_{k}}(t,z) = \sum_{k_{1}=1}^{n+1} \int_{l_{k-1}}^{l_{k}} \mathcal{H}_{k,k_{1}}(t-\ddagger,z,\checkmark) U_{02_{k}}(\checkmark) \ddagger_{k} d\checkmark +$$
(12)

$$+\sum_{k_{1}=1}^{t} \int_{0}^{t} \mathcal{K}_{k,k_{1}}(t-1,z) S_{2_{k_{1}}}(1,z) = \int_{2_{k_{1}}}^{t} \int_{0}^{t} \mathcal{K}_{k,k_{1}}(t-1,z) \left[ D_{2_{k_{1}}} \frac{\partial^{2}}{\partial z^{2}} U_{2_{k_{1}}}(1,z) - U_{0l_{k_{1}}}(z) u_{+}(1,z) \right]_{k_{1}} dz dt -$$

$$-\sum_{k_{1}=1}^{t} \mathcal{R}_{k,k_{1}}^{1}(t-1,z) \left[ D_{2_{k_{1}}} \frac{\partial^{2}}{\partial z} U_{2_{k_{1}}}(1,z) - D_{2_{k_{2}}} \frac{\partial}{\partial z} U_{2_{k_{2}}}(1,z) \right] dt, s_{1},s_{2} \in \{k_{1},k_{1}+1\}, k=\overline{1,n+1}$$

$$- U_{1}(t,z) = \{ U_{1_{1}}(t,z), U_{1_{2}}(t,z), ..., U_{1_{n+1}}(t,z) \},$$

$$(13)$$

(2):  

$$\mathcal{H}_{k,k_{1}}(t,z,\varsigma) = \sum_{m=1}^{\infty} e^{-s_{m}^{2}t} \frac{V_{k}(z,s_{m})V_{k_{1}}(\varsigma,s_{m})}{\left\|V(z,s_{m})\right\|_{1}^{2}}; k, k_{1} = 1, \overline{n+1}, \quad (14)$$

 $z = l_k$ .

$$\mathcal{R}_{kk_{1}}^{s}(t,z) = \dagger_{k_{1}} \sum_{m=1}^{\infty} e^{-S_{m}^{2}t} \frac{S_{m} D_{11_{k_{1}}} \frac{d}{dz} V_{k_{1}+1}(l_{k_{1}},S_{m})}{\|V(z,S_{m})\|_{1}^{2}} V_{k}(z,S_{m}), \ s = \overline{1,2},$$
$$\mathcal{F}_{1_{m}}(t) = f_{1_{m}}(t) + \sum_{k=1}^{n} \dagger_{k} \left[S_{m} D_{11_{k}} \frac{d}{dz} V_{k+1}(l_{k},S_{m})\Big|_{z=l_{k}} \check{S}_{1k}(t)\right],$$

$$V_k(z, S_m) - ,$$
 [12].  
4.

[13, 15-18],

) 
$$U_{1_{k}}(t,z), U_{2_{k}}(t,z),$$
 [5, 7]  
 $(7) (2) (3)$   
 $\frac{\partial}{\partial z} \left( D_{k} \begin{bmatrix} U_{1_{k}}(t,z) \\ U_{2_{k}}(t,z) \end{bmatrix} - D_{k+1} \begin{bmatrix} U_{1_{k+1}}(t,z) \\ U_{2_{k+1}}(t,z) \end{bmatrix} \right)_{z=l_{k}} = 0, \ k = \overline{1,n}, \ t \in (0,T).$  (15)  
)  $, k = \frac{1}{1,N+1},$   
 $(7), (2), (3), (15) -$ 

2), (3), (15)  

$$U_{s_{k}}(t,z)\Big|_{z=l_{k-1}} = U_{sl_{k-1}}; \quad U_{s_{k}}(t,z)\Big|_{z=l_{k}} = U_{sl_{k}}, \quad s = \overline{1,2}. \quad (16)$$

$$D_{sp}, s, p = 1, 2$$

$$X_{k} \subset \Omega_{k}, k = \overline{1, n + 1},$$

$$U_{sk}(t, z)|_{x_{k}} = f_{s_{k}}(t, z)|_{x_{k}}.$$

$$(17)$$

$$(7), (2), (3), (15),$$

$$D_{sp_{k}} \in D, \quad D = \left\{ \in (t, z) : \in |_{\Omega_{k_{T}}} \in C(\Omega_{k_{T}}), \in >0, k = \overline{1, n + 1} \right\}.$$

$$X_{k},$$

[16, 19]:

$$J_{s}(D_{sp}(t)) = \frac{1}{2} \sum_{k=1}^{n+1} \int_{l_{k-1}}^{l_{k}} \left( \left\| U_{s_{k}}(\ddagger, z, D_{sp_{k}}) - f_{s_{k}} \right\|_{L_{2}(\mathbf{x}_{k})}^{2} \right)^{\ddagger} dz$$

$$\left\| \left\{ \right\|_{L_{2}(\mathbf{x}_{m})}^{2} = \int_{\mathbf{x}_{m}}^{2} \left\{ {}^{2}d\mathbf{x}_{m} - \right\} \left\| \left\{ \right\|_{L_{2}(\mathbf{x}_{m})}^{2} = \left| \left\{ \left( t, z \right) \right|_{z=\mathbf{x}_{m}}^{2} \right\} \right\} \right\}$$

$$(18)$$

$$U_{s_m}(t,z) (7), (2), (3), (14)$$
z m- .

$$\gamma \in \Omega_{m}$$

$$J_{s}(D_{sp}) = \frac{1}{2} \int_{0}^{T} \left( \left\| U_{s_{k}}(t, l_{k}, D_{sp_{k}}) - f_{s_{k}} \right\|_{L_{2}(x_{k})}^{2} \right) dt .$$

$$(19)$$

$$, , , (12)$$

$$(12), (15)$$

$$(7), (2), (3), (15)$$

$$U_{2_{k}}(t, z) = \sum_{k_{1}=1}^{n+1} \int_{l_{k-1}}^{l_{k}} \mathcal{H}_{k,k_{1}}(t-\ddagger, z, <) U_{02_{k}}(<) \ddagger_{k} d <, \ k = \overline{1, n+1}$$
(20)

$$U_{l_{k}}(t,z) = \int_{0}^{t} \sum_{k_{l}=1}^{n+1} \int_{k_{k,k_{l}}}^{l_{k}} \mathcal{H}_{k,k_{l}}(t-\ddagger,z,\varsigma) \left[ D_{l_{2_{k_{l}}}} \frac{\partial^{2}}{\partial z^{2}} U_{2_{k_{l}}}(\ddagger,\varsigma) - U_{0l_{k_{l}}}(\varsigma) u_{+}(\ddagger) \right]_{k_{l}}^{\dagger} d\varsigma d\ddagger - (21)$$

$$-\sum_{k_{l}=1}^{n} \int_{0}^{t} \mathcal{R}_{k,k_{l}}^{1}(t-\ddagger,z) \frac{\partial}{\partial z} \left( D_{l_{2_{k_{l}}}} U_{2_{k_{l}}}(\ddagger,z) - D_{l_{2_{k_{2}}}} U_{2_{k_{2}}}(\ddagger,z) \right) d\ddagger; s_{1},s_{2} \in \{k_{1},k_{1}+1\}, k = \overline{1,n+1}$$

$$k - (7), (2), q_{1}, q_{2}, q$$

(16)

,

$$U_{2_{k_{1}}}(t,z) = \frac{2}{\Delta h} \sum_{m=1}^{\infty} \begin{bmatrix} U_{02_{k_{1}}} \left[ 1 - (-1)^{m} \right] e^{-D_{22_{k}} S_{m}^{2}t} - \\ - \left( (-1)^{m} U_{2l_{k_{1}}} - U_{2l_{k_{1-1}}} \right) \left( 1 - e^{-D_{22_{k_{1}}} S_{m}^{2}t} \right) \end{bmatrix} \frac{\sin S_{m} \left( z - l_{k_{1}} \right)}{S_{m}}$$

$$k_{1} = \overline{1, N_{1} + 1}$$

[12, 14] :

$$U_{1_{k_{1}}}(t,z) = \frac{2}{\Delta h} \sum_{m=1}^{\infty} \begin{bmatrix} U_{01_{k_{1}}} \left[ 1 - (-1)^{m} \right] e^{-D_{11_{k_{1}}} S_{m}^{2}t} - \\ - \left( (-1)^{m} U_{1l_{k_{1}}} - U_{1l_{k_{1}-1}} \right) \left( 1 - e^{-D_{11_{k_{1}}} S_{m}^{2}t} \right) - \\ - D_{12_{k_{1}}} S_{m} \int_{0}^{t} e^{-D_{11_{k_{1}}} S_{m}^{2}(t-1)} \frac{\partial^{2}}{\partial z^{2}} U_{2_{k_{1}}}(\ddagger, z) dz \end{bmatrix} \frac{\sin S_{m}(l_{k-1}-z)}{S_{m}}$$
(22)  
$$S_{m} = \frac{mf}{\Delta h}, k_{1} = \overline{1, N_{1} + 1}$$

\_

(7), (2), (3), (15)  
$$D_{sp_{m}} + \Delta D_{sp_{m}},$$
$$V_{s_{m}}, \qquad U_{s_{m}} + v_{s_{m}},$$
$$V_{s_{m}}, ..$$

101

-

$$\frac{\partial}{\partial t}v_{l_{m}}(t,z) = \frac{\partial}{\partial z} \left( D_{l_{m}}^{i} \frac{\partial}{\partial z} v_{l_{m}} \right) - \frac{\partial}{\partial z} \left( D_{l_{2m}}^{i} \frac{\partial}{\partial z} v_{2_{l_{m}}} \right) + \Delta D_{l_{m}}^{i} \frac{\partial^{2}}{\partial z^{2}} U_{l_{m}} - \Delta D_{l_{2m}}^{i} \frac{\partial^{2}}{\partial z^{2}} U_{2_{m}}, z \in \Omega_{m_{r}}, m = \overline{\mathbf{I}, N+1}$$

$$\frac{\partial}{\partial t} v_{2_{m}}(t,z) = \frac{\partial}{\partial z} \left( D_{22_{m}}^{i} \frac{\partial}{\partial z} v_{2_{m}} \right) + \Delta D_{22_{m}}^{i} \frac{\partial^{2}}{\partial z^{2}} U_{2_{m}}, z \in \Omega_{m_{r}}, m = \overline{\mathbf{I}, N+1}$$
(23)

$$v_{s_s}(t,z)_{t=0} = 0, \ z \in \Omega_m, \ m = \overline{1, N+1},$$
(24)  
z:

n

1 Dn

$$D_{1} \frac{\partial}{\partial z} v_{s_{1}}(t, z)_{z=0} = 0, \quad D_{n+1} \frac{\partial}{\partial z} v_{s_{N+1}}(t, z)_{z=l} = 0, \quad t \in (0, T), \quad (25)$$

$$\begin{pmatrix} \frac{\partial}{\partial z} \left( D_{l_{1_{m}}}^{n} v_{l_{m}}(t,z) + D_{l_{2_{m}}}^{n} v_{2_{m}}(t,z) \right) - \frac{\partial}{\partial z} \left( D_{l_{1_{m+1}}}^{n} v_{l_{m+1}}(t,z) + D_{l_{2_{m+1}}}^{n} v_{2_{m+1}}(t,z) \right) \end{pmatrix}_{z=l_{m}} = \\ = \begin{pmatrix} \frac{\partial}{\partial z} \left( \Delta D_{l_{1_{m+1}}}^{n} U_{l_{m+1}}(t,z) + \Delta D_{l_{2_{m+1}}}^{n} U_{2_{m+1}}(t,z) \right) - \frac{\partial}{\partial z} \left( \Delta D_{l_{1_{m}}}^{n} U_{l_{m}}(t,z) + \Delta D_{l_{2_{m}}}^{n} U_{2_{m}}(t,z) \right) \end{pmatrix}_{z=l_{m}}$$
(26)  
$$\frac{\partial}{\partial z} \left( D_{2_{2_{m}}}^{n} v_{2_{m}}(t,z) - D_{2_{2_{m+1}}}^{n} v_{2_{m+1}}(t,z) \right)_{z=l_{m}} = \frac{\partial}{\partial z} \left( \Delta D_{2_{2_{m+1}}}^{n} U_{2_{m+1}}(t,z) - \Delta D_{2_{2_{m}}}^{n} U_{2_{m}}(t,z) \right)_{z=l_{m}} , \ k = \overline{1,n}, \ t \in (0,T)$$

$$D_{\text{int}er_{m}}^{n}, D_{\text{int}ra_{m}}^{n}, , D_{\text{int}ra_{m}}^{n}, D_{\text{int}er_{m}}^{n}, D_{\text{int}ra_{m}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_{\text{int}ra_{m}^{n}, D_$$

$$\begin{aligned} \frac{\partial}{\partial z} W_{s_{1}}(t,z)|_{z=0} &= 0; \ \frac{\partial}{\partial z} W_{s_{N+1}}(t,z)|_{z=l} = 0, \ t \in (0,T) \end{aligned} \tag{29} \\ & \left[ W_{s_{m}}(t,z) - W_{s_{m+1}}(t,z) \right]_{z=l_{m}}^{z} = 0 \\ & \left( \frac{\partial}{\partial z} \left( D_{11_{s_{1}}} W_{1_{s_{1}}} + D_{21_{s_{1}}} W_{2_{s_{1}}} \right) - \frac{\partial}{\partial z} \left( D_{11_{s_{2}}} W_{1_{s_{2}}} + D_{21_{s_{2}}} W_{1_{s_{2}}} \right) \right) \Big|_{z=l_{k}} = 0 \end{aligned} \tag{30} \\ & \left( \frac{\partial}{\partial z} \left( D_{22_{k}} W_{2_{k}} \right) - \frac{\partial}{\partial z} \left( D_{22_{k+1}} W_{2_{k+1}} \right) \right) \Big|_{z=l_{k}} = 0, \ k = \overline{1, n}, \ t \in (0, T). \end{aligned}$$

(27)-(30)

[12,

14].

$$\mathcal{L}_{n} = \left[\sum_{k=1}^{n} D_{1l_{k}''}\left(z - l_{k-1}\right)_{''}\left(l_{k} - z\right) + D_{1l_{n+1}''}\left(z - l_{n}\right)\right] \frac{d^{2}}{dz^{2}}.$$

$$\begin{bmatrix} (27)-(30) \\ (27)-(30) \\ \end{bmatrix}_{l_{m}} (t) = \begin{bmatrix} U_{1_{k_{1}}}^{n}(\ddagger, \aleph_{k_{1}}) - f_{k_{1}}(\ddagger) \end{bmatrix}_{m}, \quad \aleph_{1m}(t)|_{t=T} = 0, \quad (33)$$

$$\begin{bmatrix} \frac{d}{dt} - \aleph_{m}^{2} \end{bmatrix}_{w_{2m}} (t) = \begin{bmatrix} (U_{2_{k_{1}}}^{n}(\ddagger, \aleph_{k_{1}}) - f_{2k_{1}}(\ddagger)) + D_{12_{k_{1}}} \frac{\partial^{2}}{\partial z^{2}} \aleph_{1_{k_{1}}}(\ddagger, z) \end{bmatrix}_{m}, \quad (34)$$

$$\frac{d}{dt} - S_m^2 \bigg] W_{2_m}(t) = \bigg[ \left( U_{2_{k_1}}^n(\ddagger, X_{k_1}) - f_{2_{k_1}}(\ddagger) \right) + D_{12_{k_1}} \frac{\partial^2}{\partial z^2} W_{1_{k_1}}(\ddagger, z) \bigg]_m, \quad (34)$$
(27)-(30)

[12].

(32).

,

,

(27), (28), (31)

,

$$[12, 14]:$$

$$W_{1_{k_{1}}}(t, z) = \frac{2}{\Delta l} \sum_{m=1}^{\infty} \left( \sin S_{m} \left( z - l_{k_{1}} \right) \int_{t}^{T} e^{D_{11_{k}}^{n} S_{m}^{2}(t-\frac{1}{2})} \left( U_{1_{k_{1}}}^{n} \left( \frac{1}{2}, X_{k_{1}} \right) - f_{1k_{1}} \left( \frac{1}{2} \right) \right) d\frac{1}{2} \right)$$

$$W_{2_{k_{1}}}(t, z) = \frac{2}{\Delta l} \sum_{m=1}^{\infty} \left( \sin S_{m} \left( z - l_{k_{1}} \right) \int_{t}^{T} e^{D_{22_{k_{1}}}^{n} S_{m}^{2}(t-\frac{1}{2})} \left( \left( U_{2_{k_{1}}}^{n} \left( \frac{1}{2}, X_{k_{1}} \right) - f_{2k_{1}} \left( \frac{1}{2} \right) \right) + \left( \frac{1}{2} \int_{t}^{2} \frac{\partial^{2}}{\partial z^{2}} W_{1_{k_{1}}} \left( \frac{1}{2}, z \right) \right) d\frac{1}{k_{1}} \right), (35)$$

$$W_{1_{k_{1}}}(t, z) = \frac{2}{\Delta l} \sum_{m=1}^{\infty} \left( \sin S_{m} \left( z - l_{k_{1}} \right) \int_{t}^{T} e^{D_{22_{k_{1}}}^{n} S_{m}^{2}(t-\frac{1}{2})} \left( \frac{\partial^{2}}{\partial z^{2}} W_{1_{k_{1}}} \left( \frac{1}{2}, z \right) \right) d\frac{1}{k_{1}} \right), (35)$$

, (22), (35)

,

6.

,

[16-20],

(23)

$$\begin{split} \mathcal{L} v_{s_m}(t,z) &= \mathbf{X}_{s_m} v_{s_m} \in \Omega_{mT} ,\\ \mathcal{L}_1 &= \frac{\partial}{\partial t} - \frac{\partial}{\partial z} \left( D_{11_m}^n \frac{\partial}{\partial z} \right) + \frac{\partial}{\partial z} \left( D_{12_m}^n \frac{\partial}{\partial z} v_{2_m} \right), \mathcal{L}_2 &= \frac{\partial}{\partial t} - \frac{\partial}{\partial z} \left( D_{22_m}^n \frac{\partial}{\partial z} \right),\\ \mathbf{X}_{1_m}(t,z) &= \Delta D_{11_m}^n \frac{\partial^2}{\partial z^2} U_{1_m} - \Delta D_{12_m}^n \frac{\partial^2}{\partial z^2} U_{2_m} , \ \mathbf{X}_{2_m}(t,z) &= \Delta D_{22_m}^n \frac{\partial^2}{\partial z^2} U_{2_m} , \end{split}$$

,

$$\begin{split} m = \overline{1, n+1}. \\ \mathcal{L}_{s} &, \qquad \Omega_{mT} & L_{2}, \\ \mathcal{L}_{s} v_{s_{m}}, W_{s_{m}} \in L_{2}: \\ & \left(\mathcal{L}_{s} v_{s_{m}}, W_{s_{m}}\right) = \sum_{m=1}^{n+1} \int_{\Omega_{m}} W_{s_{m}}(t, z) \mathcal{L}_{s} v_{s_{m}}(t, z) dz, \qquad (36) \\ W_{s_{m}}(t, z) &, \qquad \overline{\Omega}_{mT}. \\ \Delta J_{s}(t, D_{sp_{m}}) = \sum_{m=1}^{n+1} \int_{m=1}^{l_{m}} v_{s_{m}}(t, z) e_{s_{m}}(t) u(z - l_{m}) dz + O(\max_{m} \left| \Delta U_{s_{m}} \right|), \\ v_{s_{m}} = \mathcal{L}_{s}^{-1} X_{s_{m}} \\ \Delta J_{s}(t, D_{sp_{m}}) = \sum_{m=1}^{n+1} \left( \left( X_{s_{m}}(t, z), \mathcal{L}_{s}^{-1*} \left[ e_{s_{m}}(t) u(z - l_{m}) \right] \right) + O(\max_{m} \left| \Delta U_{s_{m}} \right|). \quad (37) \\ \mathcal{L}^{-1*} \left[ e_{s_{m}}(t) u(z - l_{m}) \right] = W_{s_{m}} \\ \left( \mathcal{L}_{s} v_{s_{m}}, W_{s_{m}} \right) = \left( v_{s_{m}}, \mathcal{L}_{s}^{*} W_{s_{m}} \right), \qquad (36) \quad [19, \ 20], \\ (37) \quad X_{s_{m}}(t, z), \qquad , \end{cases}$$

$$\Delta J_{2}(t, D_{2p_{m}}) = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), X_{2m}(t, z) \right) + \mathcal{O}(\max_{m} \left| \Delta U_{2m} \right|) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{2m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m}(t, z) \right) + \left( A_{2m}^{n} \right) \right] + \mathcal{O}(\max_{m} \left| \Delta U_{2m} \right|) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m}(t, z) \right) + \mathcal{O}(\max_{m} \left| \Delta U_{2m} \right|) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} - \Delta D_{12m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} - \Delta D_{12m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{1m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{2m}^{n} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{2m} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right) + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta D_{2m} \frac{\partial^{2}}{\partial z^{2}} U_{2m} \right] + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( W_{2m}(t, z), \Delta U_{2m} \right] + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n+1} \left[ \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right) \right] = \sum_{m=1}^{n} \left[ A_{2m}^{n} \left| \Delta U_{2m} \right| \right] + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right] + \left( A_{2m}^{n} \left| \Delta U_{2m} \right| \right] \right] = \sum_{m=1}^{n} \left[ A_{2m}^{n} \left| \Delta U_{2m} \right| \left| \Delta U_{2m} \right| \left| \Delta U_{2m} \right| \right] + \left( A_{2m}^{n} \left| \Delta U_{2$$

:  

$$\nabla J_{D_{22}}(t) = \sum_{m=1}^{n+1} \int_{l_{m-1}}^{l_m} W_{2m}(t,z) \frac{\partial^2}{\partial z^2} U_{2m}(t,z) dz,$$

$$\nabla J_{D_{11}}(t) = \sum_{m=1}^{n+1} \int_{l_{m-1}}^{l_m} W_{1m}(t,z) \frac{\partial^2}{\partial z^2} U_{1m}(t,z) dz,$$

\_

D:

$$\nabla J_{D_{12}} = -\sum_{m=1}^{n+1} \int_{l_{m-1}}^{l_m} W_{1m}(t,z) \frac{\partial^2}{\partial z^2} U_{2m}(t,z) dz .$$
 (40)

-

,

, (19):  

$$\nabla J_{D_{22k_{1}}}(t) = W_{2k_{1}}(t, X_{k_{1}}) \frac{\partial^{2}}{\partial z^{2}} U_{2k_{1}}(t, X_{k_{1}}), \nabla J_{D_{1}k_{1}}(t) = W_{1k_{1}}(t, X_{k_{1}}) \frac{\partial^{2}}{\partial z^{2}} U_{1k}(t, X_{k_{1}}),$$

$$\nabla J_{D_{12k_{1}}}(t) = -W_{1k_{1}}(t, X_{k_{1}}) \frac{\partial^{2}}{\partial z^{2}} U_{2k_{1}}(t, Y_{k_{1}}), k_{1} = \overline{1, N_{1} + 1}$$

$$(41)$$

$$n + 1 -$$

$$(5)$$

$$D_{sp_{k_{1}}}^{n+1}$$

$$(41)$$

$$m = \overline{1, N+1},$$

$$n+1-$$

$$D_{sp_{k_{1}}}^{n+1}(t) = D_{sp_{k_{1}}}^{n}(t) - \nabla J_{D_{sp_{k_{1}}}}^{n}(t) \frac{\left\|U_{s_{k_{1}}}(t, X_{k_{1}}, D_{sp_{k_{1}}}) - f_{s_{k_{1}}}\right\|^{2}}{\left\|\nabla J_{D_{sp_{k_{1}}}}^{n}(t)\right\|_{x_{k_{1}}}^{2}}, t \in (0,T), s, p = \overline{1,2}; k_{1} = \overline{1,N_{1}} (42)$$
7.

nm,

—





[z = 7nm]: 1) ,; 2) 100- , 3) 500- , 4) 1000- , 5) 2500- , 6) 3500- , 7) 4500- ; 8)



. 4,



. 3-4

(z = 7nm).

 $U_{2_{k_{1}}}$  ( . 4),  $U_{1_{k_{1}}}$ 









.8 Fe Dy



:

•

,

8.

Fe/Dy-

,

.

101

,

••

- Cadel E., Lemarchand D., Chambreland S., Blavette D. Atom probe tomography investigation of the microstructure of superalloys 18 // Acta materialia, volume 50, Issue 5, 2002, p. 957-966.
- Tamion A., Cadel E., Bordel C., Blavette D. Three-dimensional atom probe investigation of Fe/Dy myltilayer. *Scripta Materialia*, *Volume 54, Issue 4, 2006*, 671-675.
- 3. Tamion A., Ott F., Berche P.-E., Talbot E., Bordel C., Blavette D. Magnetization depth profile of (Fe/Dy) multilayers. *Journal of Magnetism and Magnetic Materials*, *Volume 320, Issue 21, 2008, 2650-2659.*
- 4. Tamion A., Jurshek J., Bordel C. Investigation of (Fe/Dy) multilayers by <sup>57</sup>Fe Mössbauer spectrometry. *Journal of Magnetism and Magnetic Materials, Volume* 313, Issue 2, 2007, 306-311.
- 5. Tamion A., Cadel E., Bordel C., Blavette D. Influence of the interface local chemistry on the magnetic anisotropy of (Fe/Dy) multilayers. *Journal of Magnetism and Magnetic Materials, Volumes 290-291, Part 1, 2005, 238-241.*
- 6. Mehrer H. Diffusion in Solids/ Mehrer H. Springer, 2007. 650 .
- Kärger J. Diffusion fundamentals / Kärger J., Grinberg F., Heitjans P. Leipziger Unviersite, Leipzig, 2005. – 615 p.
   . .





- Petryk M. Mathematical modeling and visualization of gas transport in a zeolite bed using a slice selection procedure / Petryk M., Leclerc S., Canet D., Fraissard J. // Diffusion Fundamentals. – 2007. – 4. – P. 11.1–11.23.
- Petryk . Modeling of gas transport in a microporous solid using a slice selection procedure: Application to the diffusion of benzene in ZSM5 / Petryk ., Fraissard J., Leclerc S., Canet D. // Catalysis Today, Elsevier. – 2008 – 139(3). – P. 234-240.

5.

. //

11. . .,

12.

/

. – 2008. –

, 2000. - 372 .

 Deineka V.S. Identifying kinetic parameters of mass transfer in components of multicomponent heterogeneous nanoporous media of a competitive diffusion system / Deineka V.S., Petryk M.R., Fraissard J. Cybernetics and System Analysis, Springer New York, Vol. 47, Number 5, (2011), P. 705-723.

14.						
	1. – C. 11	4-134.	//			. – 2007. –
15.		.,	• •,			
		// .		/	, . – 2011. –	2. – C. 12-
	25.					
16.	506.	· / ·	••	–	:	, 2003. –
17.	Sergienko I Conjugation 400 p.	.V., Deineka Conditions. –	V.S. Optima New York:	l Control of Kluwer A a	f Distributed demic Publish	Systems with ers. – 2005. –
18.	1				,	2000 (20
19.	/	 , 1988	- 280 .	,	/	2009. – 638 . . – .:

-20.01.2012.